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HOME SCIENCE
Paper - 111

Note: This paper contains seventy five (75) objective type questions of two (2)

marks each. All questions are compulsory.

Anaemia caused by Vitamin B-12
deficiency is

(A) Megaloblastic

(B) Pernicious

(C) Sickle cell

(D) All the above

Test to assess PEM in children in
early stages is by

(A) Biochemical tests

(B) Anthropometry

(C) Pathological tests

(D) None of the above

Isoelectric point at which maximum
coagulation of milk protein takes
place :

(A) 4.2pH
(C) 5.4pH

(B) 4.6 pH
(D) 6.6 pH

Workman’s compensation is paid to
a worker.

(A) on retirement

(B) as appreciation of work done
(C) onattaining injury at work

(D) None of the above

Contingency Approach is a method

of Management

(A) where the departments are
divided into subsystems.

(B) where the inventory or stock
governs the activities.

(C) entails using different
approaches to problems.

(D) where decision is made at the
top level.

A clear fluid diet supplies

(A) Only  carbohydrates  and
calories

(B) Only minerals and vitamins

(C) Only proteins and
carbohydrates

(D) Only calories
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7.

10.

11.

12.

13.

There must be alteration between
active play and

(A) Group play

(B) Quiet play

(C) Solitary play

(D) Parallel play

Moderate hearing loss is indicated
when a child can hear only at

(A) 26-40 decible

(B) 41-55 decible

(C) 56-70 decible

(D) 71-90 decible

Disability in reading is called
(A) Hemophilia

(B) Dyslexia

(C) Aphasia

(D) Dysgraphia

One of the motifs used in Bandhani
is

(A) Burfi

(B) Ladoo-Jalebi

(C) Vajra

(D) Gopuram

Salt is added in dyeing for
(A) Absorption

(B) Exhaustion

(C) Solubility

(D) All the above

‘GOTS’ stands for :

(A) Global Ozone Textile Services

(B) Global Organic Textile
Standards

(C) Global Organic Textile
Specifications

(D) Global Organic Terms and
Standards

One of the type of utility is
(A) System utility

(B) Resource utility

(C) Diminishing utility
(D) Material utility
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14.

15.

16.

17.

18.

19.

Attitudes, feelings and interests are :
(A) Cognitive component

(B) Affective component

(C) Temporal component

(D) Physical component

The ideal size for flash card is
(A) 22 x 28 inches

(B) 8 x 10 inches

(C) 10 x 12 inches

(D) 12 x 12 inches

The women centre created at the
village level under National Mission
for Empowerment of women is

(A) Krishi Vigyan Kendra (KVK)
(B) Poorna Shakti Kendra (PSK)
(C) Rashtriya  Mahila  Kendra

(RMK)
(D) Mahila Vigyan Kendra (MVK)

The utilization of calcium is
adversely affected by

l. Oxalate [1.  Phytate

I1l.  Oxidase IV. Citrate
Code :

(A) landlll (B) Iland Il
(©) Hland IV (D) landll

Which of the following nutrients play
an important role in the metabolism
of Homocysteine ?

l. Vitamin B-6 [IlI.  Thiamine
Il.  Vitamin B-12 1VV. Folate
V. Calcium

Code :

A L LV 8) ul,Iv,v
C©) LuLv (D) LIV

Identify the terms associated with
cereal cooking :

Gelation

Gelatinization

Scum formation

Scorching

Retrogradation

f Coagulation

Po0oTe

éode :
(A) b,candd (B) a,bande
(C) e, dandb (D) ebandf
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20.

21.

22.

23.

Low sodium diet is recommended in ;
I.  Acute Hepatitis

II. NIDDM

1. Dyslipidemia

IV. CHF

V. Liver Cirrhosis

Code:

A IV, V |B) LV
C) 1,1 (D) 1

Put the following foods in increasing
order according to their sodium
content per 100 g

l. Banana Il. Egg

1.  Tomato IV. Spinach
V. Musk Melon VI. Meat
Code:

(A) IV, V, I 1, VI I
(B) I, 11,1V, V, VI, II
(C) VI, 1,1V, V, I
(D) 11,1V, V, I, 11, VI

The following tools are used for
performance appraisal :

.  TQM

Il. BARS

1. BEP

IV. RATING SCALE
V. PROCESS CHART
Code:

(A) I, lland IV

(B) I, 1IVandV

(C) V,IVandlll

(D) HI, land V

The components of intelligence are
l. Hard work

Il.  Memory

I1l.  Imagination

IV. Problem solving ability
Code :

(A) I, 1l and IV are correct.

(B) 11, 1l and IV are correct.

(C) Iand Il are correct.

(D) All are correct.
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24.

25.

26.

Marriage laws are designed to protect
I Safety of the individual

Il.  Safety of the society

I1l.  Anti-dowry system

IV. Intercaste marriage

Codes :

(A) land Il are correct.

(B) Iland Il are correct.

(C) Il and IV are correct.

(D) I, Il and 11 are correct.

Antistatic finish on a textile fabric
produces the following effects :

l. Improves the surface

conductivity

Il.  Repels molecules of water
from the surface of fabric

1. Develops an electric charge
opposite that of a fibre

IV. Increase static build up
(A) Il and Il are correct.
(B) land Il are correct.
(C) Il and IV are correct.
(D) 1V and I are correct.

Traditional costumes of Egypt
include

I.  Gallebaya [l.  Seblah

1. Jabla IV. Yelek
Codes :

(A) 11, 1l and IV are correct.

(B) I, Il and Il are correct.

(C) I, lland IV are correct.

(D) I, 1l and IV are correct.
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27.

28.

29.

30.

Following are the direct systems of
yarn numbering :

l. Cotton count

Il.  Worsted count
I11.  Denier

IV. Tex

Codes :

(A) 11, 111 are correct.
(B) I, IV are correct.
(C) I, 1l are correct.
(D) I, 1V are correct.

Principles of design are,

l. Repitition

1. Balance

I1l.  Movement

IV. Harmony

V. Rhythmic

VI. Background

Codes:

A LILIV,V

(B) I, VI I, 1V

C) HIL IV, 1L

(D) L L vLv

Following colours are cool colours :
l. Bluish green

Il.  Reddish orange

1. Blue

IV. Yellow orange

V. Green

Codes :

(A) 11,1 8) I, 11,1V
©) LuLv (D) 1,1V, V

The order of components of workers
input given by Bratton, is as below :
I Cognitive component

Il.  Temporal component

I1l.  Physical component

IV. Affective component

Codes:

(A) LIV
(B) IV, I, 11, 1
C©) HI IV, 11
(D) LIV
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31.

32.

33.

In teaching Home Science, which of
the following laboratory experiences
have important values ?

I Productive experiences

Il.  Participatory experiences

I1l.  Experimental experiences

IV. Observation experiences
Codes:

(A) I, Il and IV are correct.
(B) II, Illand I are correct.
(C) I, llland IV are correct.
(D) I, 1V and Il are correct.

Women empowerment denotes

l. Freedom from the household
work

Il. Enable women to insist upon
their  rights and  assert
themselves

I1l.  Development of the ability for
women to make appropriate

decision
IV. Hatred towards men
Codes:

(A) land Il are correct.

(B) Il and Il are correct.
(C) Mland 1V are correct.
(D) IV and Il are correct.

The use of knowledge and abilities
acquired through non-formal
education can be evaluated in terms
of

l. Personal development

II. Involvement in

community

activities

1. Competency in doing similar
work

IV. Increased employment
opportunities

Codes :

(A) I, 1land Il are correct.

(B) I, 1lland 1V are correct.

(C) I, 1V and I are correct.

(D) I, I and IV are correct.
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34.

35.

36.

Assertion (A) : Milk is a complete
food for infants.

Reason (R) : Weaning should be
started only after 8 months.

Codes :

(A) (A) is correct but (R) is false.
(B) (A) is false but (R) is correct.
(C) Both (A) and (R) are correct.
(D) Both (A) and (R) are false.

Assertion (A) : Biofortification  is
done to inhibit the natural
enzymatic process and to
increase shelf life.

Reason (R) : It changes the
nutritive content of food which
delays the ripening process.

Code:

(A) (A) is true, but (R) is false.
(B) (A) is false, but (R) is true.
(C) Both (A) and (R) are true.

(D) Both (A) and (R) are false.

Assertion (A) : Infective  hepatitis
(Type A) is due to a virus
generally transmitted through
Air contamination.

Reason (R) : The disease manifests
symptoms  like  anorexia,
fatigue, nausea, vomitting,
fever, weight loss and jaundice.

Codes :

(A) Both (A) and (R) are false.

(B) Both (A) and (R) are true.

(C) (A)istrue and (R) is wrong.

(D) (A)iswrongand (R) is true.
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37.

38.

39.

Assertion (A) : The system theory’s
doctrine is that the whole of an
entity is more than the sum of
its parts.

Reason (R) : This is based on
cooperative synergistic
working of members which is
called PERT.

Code:

(A) (A)is correct, but (R) is false.
(B) (R) is correct, but (A) is false.
(C) Both (A) and (R) are correct.
(D) Both (A) and (R) are false.

Assertion (A) : Transition means
adjustment to new values,
expectations, interests and new
set of behaviours.

Reason (R) : In transition period
always physical, intellectual
and emotional changes take
place.

Codes :

(A) Both (A) and (R) are correct.
(B) (A) is correct but (R) is wrong.
(C) Both (A) and (R) are wrong.
(D) (A) iswrong but (R) is correct.

Assertion (A) When the
counselor listens quietly to the
counselee, the counselee feels
relieved of his problems and
develops inner strength.

Reason (R) : The counselor’s duty
IS only listening and
questioning.

Codes :

(A) Both (A) and (R) are correct.
(B) Both (A) and (R) are wrong.
(C) (A) iswrong but (R) is correct.
(D) (A)is correct but (R) is wrong.
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40.

41.

42.

43.

Assertion (A): Height or length of
children below the age of two
years should be measured with
an infantometer.

Reason (R) : An infantometer is
used for children who cannot
stand properly.

Codes :

(A) Both (A) and (R) are wrong.

(B) Both (A) and (R) are correct.

(C) (A)is correct but (R) is wrong

(D) (A) iswrong but (R) is correct.

Assertion (A) : Role of entrepreneur
and manager is the same.
Reason (R) : Both are risk takers
and work for profit for an
organizations.

Codes :

(A) (A) and (R) are correct.

(B) (A) and (R) are incorrect.

(C) (A) is correct and (R) is
incorrect.

(D) (A) is incorrect and (R) is
correct.

Assertion (A) : Plisse and  seer-
sucker have the same puckered

effect.

Reason (R) : Both are achieved by
the same process.

Codes :

(A) (A) is correct but (R) is
incorrect.

(B) (A) is incorrect but (R) is
correct.

(C) Both (A) and (R) are correct.
(D) Both (A) and (R) are incorrect.

Assertion (A) : Cross dyeing can
produce multicoloured fabrics.

Reason (R) : Two or more fibre
types in a fabric accept a
different type of dye.

Codes :

(A) Both (A) and (R) are correct.
(B) Both (A) and (R) are incorrect.

(C) (A) is correct but (R) is
incorrect.

(D) (A) is incorrect but (R) is
correct.

S-12-13



37.

38.

39.

AfTH (A) ( TF T TGS oG]
39% Tl % Siig ¥ TA.T €, I8
JuTTeAT o T &l fomme & |

FROT(R) T8 WEHN Tood 6
F FE HE W ARG ¢, 59
WL AN, Fed & |

E

(A) (A)TF g, W (R) e e |

(B) (R) ¥, W (A) frean ¢ |

(C) (A)MR(R) TN ITAE |

(D) (A) 3R (R) T fqem & |

FUA (A) : GO ¥ A & U
gooi, erdemedl, el AR A
?r{%wrﬁﬁwﬁmm

|

HROT(R) : ThHAOT  HA H T
YRR, difges TI  AEES
IREAaT B € |

E 4

(A) (A) 3R (R) 3T &t € |

(B) (A) Wl & = (R) T ¢ |

(C) (A) 3R (R) I Toid & |

(D) (A)Tera & W (R) W&l & |

FUT(A) 5T FE TARHR (HHr
AT @ 916t 0 ST Bl g9 9
AT & A 0T o STl A
H AT gHEIS W FIHRT
frotar & ok Sau eTaRer wifed
ST Il & |

FHRUT (R) : TOARHR H Hed hadl
AT SR U9 HRATE |

E

(A) (A) 3R (R) I TE & |

(B) (A) 3R (R) IHI Tord & |

(C) (A) T & R (R) Tl ¢ |

(D) (A) Wl g, W (R) Tord ¢ |

S-12-13
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40.

41.

42.

43.

HFUT(A) : I 99 ¥ HH T B BR
AT § AT ST =T |
FHRUT(R) : $HediecX 39 =ai & fow

TR e € S 3k ¥ @ el @l
TqH |
&<
(A) (A) 3R (R) IHI Tord & |
(B) (A) R (R) 3T @&t € |
(C) (A) T e, W< (R) Tord & |
(D) (A) Terd & R (R) Tel ¢ |

HUF (A)  SEH! 3 FSF H TH &
fFeRT Bl |

HRUT(R) : I SifEg 32 & SR
T T A &, T foTT o F
FAE |

E

(A) (A) 3R (R) 3T &t € |

(B) (A) 3T (R) I Toid & |

(C) (AW g, (R)To € |

(D) (A) 7o § 3R (R) W&l € |

FHUA (A) Tl IR FEEREeT gt
T THTHH JHiaet ITE € |
HROT(R) : I & wOE ulsear o

T S & |
E
(A) (A) Tel &, < (R) Tord & |
(B) (A) Terd & W= (R) W&l & |
(C) (A) 3R (R) 3T &t € |
(D) (A) 3R (R) IHI Tord & |

A (A) : fafay 9 T 9 FgOm
FUE B ThA ¢ |

FROR) : TR sm AT a1 9
3tyeh =] % WK & a o fat=
TE & TN ol WP FA © |

E

(A) (A) 3R (R) 3T &t € |

(B) (A) 3R (R) HI Tord & |

(C) (A) T e, =< (R) T € |

(D) (A) 7Terd &, W= (R) &l & |

Paper-111



44,

45.

46.

Assertion (A) : Rubber tile is
affected adversely by oil,
grease, and solvents and so it is
not used for kitchen counter
tops.

Reason (R) : Kitchen counter tops
made up of rubber tiles are
damaged easily.

Code:

(A) (A) is incorrect and (R) is
correct.

(B) (A) is correct and (R) is
incorrect.

(C) Both (A) and (R) are incorrect.
(D) Both (A) and (R) are correct.

Assertion (A) :For  planning a
functional  arrangement  of
centres, we require to examine,
which centres are given choice
locations and which are to be
grouped together.

Reason (R) : The centres that are
focal points in the work should
be located at last, determining
the importance of various
centres separately.

Code:

(A) Both (A)and (R) are true.

(B) (A) is false but (R) is true.

(C) (A)istrue but (R) is only partly
true.

(D) (A) is true, but (R) is false.

Assertion (A) : Ergonomics is the
application of human,
biological science in

conjunction with Engineering
science to the worker and his
working environment and at

the same time enhance
productivity.
Reason (R) : The focus of the

study is an worker fatigue.
Codes :
(A) (A)is correct but (R) is wrong.
(B) (A) iswrong and (R) is correct.
(C) Both (A) and (R) are correct.
(D) Both (A) and (R) are wrong.
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47.

48.

49.

Assertion (A) : Home Science
education is broad based.

Reason (R) : It has within its

realm everything that has
anything to do with family and
community.

Code:

(A) (A)and (R) are correct.
(B) (A) and (R) are not correct.

(C) (A) is correct, (R) is not
correct.

(D) (A) is not correct, (R) is
correct.

Assertion (A) : Audio-visual  aids
are not the best teaching aid.

Reason (R) : In reality there is no
best teaching aid. It all depends
upon the situation on which the
aids are used.

Code :

(A) Both (A) and (R) are not
correct

(B) (A) is correct, (R) is not correct
(C) (A)isnot correct, (R) is correct
(D) Both (A) and (R) are correct

Give the correct sequence of the
enzymatic browning occurring in cut
fruits.

l. D.O.P.A. formation

Il.  Polyphenolase  comes in
contact with air

I11.  Melanin formation

IV. Fruits are cut

V.  Orthoquinones formation
Code :

(A) IV, 1L 1V,
(B) IV, IIL, V, I, |
C) IV, LIV, |
(D) 1,1V, 11,1,V

S-12-13



44, wuT (A)

45.

46.

© WE H TEAl WA,
eI EC G P s
BT § A TEITEY & HIS |
TR YT el foham ST |

HROT(R) : ¥EE TRA § I+ TG &
FHTET AT TS & ST € |

E 4

(A) (A) T g 3R (R) Wl ¢ |

(B) (A) T ¢ 2R (R) Tord ¢ |

(C) = (A) 3R (R) Toid & |

(D) =M (A) 3R (R) T € |

APTHU (A) : HF B THETTR T
FH AT IS TET &H I 9@
¢ o fob 3 @1 g @ 53
T § 3R fFT Rl I TH 9E H
@AM |

HROT(R)  : s ST w1 % o5 (o
A & 3t 9 faf= Fei & de
N FEReT wXd g0 3% o H
e 91 S |

&<

(A) (A) 3R (R) I W& |

(B) (A)Toid &, W] (R) Wel ¢ |

(C) (A) 7o &, W= (R) 2Aiters &9
JIEE |

(D) (A) % g == (R) T & |

HUA (A) . TOTEITHE  #EE, SO
fasm & @ St fae @
F A ITF FE-INEW H
3TN AT & SR Tqh TY-Jq1T
SCAEHAT Hl T & |

FHWOT(R) : AT B g ¢ HAT &l
AqHEE |

E 4

(A) (A) T e, 7 (R) Tod & |

(B) (A) T ¢ 3R (R) eI € |

(C) (A) 3 (R) I Wl € |

(D) (A) 3R (R) & Tordt & |

S-12-13
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47.

48.

49.

FUA (A) ;I fom e s

FRO(R) : =@ & 3 gt o ¥ Forr
T T AR IRAR T & |

E 4

(A) (A)IR(R)FEE |

(B) (A) 3R (R) i € |

(C) (A) e, (R)Tod e |

(D) (A) T E, (R) Wl |

FAT(A) @ FATI  TEEE G
AT o FaH HIYT Tei & |

FHRUT(R) : o%da H Game  Te—
giaT & T@l & | ¥ 39 fefqel W
R = & 59 8§ =9 |eEl &
T BT € |

&<

(A) (A) 3R (R) H T € |

(B) (A)®& ¢, (R)Tod & |

(C) (A)Tea g, (R) W& |

(D) (A) 3R (R) I I |

¢ T Fell H TTeH FRT R & B
T SR STed |
I SLendT o=

. UfA®HS %1 8l & 99 o
3

L. HeA= &=

IV. Wl ST

V. ST e
E 4
(A)
(B) 1IV,1IL V, 1L I
(C) 1IV,IL 1LV,

(D)

IV, IL I, V, III

LIV, LI,V
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50. Give the

51.

correct sequence of
activities with respect to minimum to
maximum  energy  expenditure.
(Kcal/min)

I.  Washing clothes

Il.  Reading and writing
I1l.  Carpentery

IV. Watering plants

V. Jogging

VI. Bathing

VII. Cycling

Code :

(A) LIV, VL L VIV
(B) IV, I 1, V, II, VI, VI
©) L nLviL v, v, vi

(D) V, IV, VL VI L

Give the sequencial progression of
symptoms in cirrhosis :

l. Malnutrition and Nacrosis of
liver cells

Il.  G.l. disturbances

Il. Ascitis
IV. Fibrosis
V. Oedema

VI. Easophageal varicose

Code :

(A) 11,1V, 1L VIV
(B) 11,1V, 1, VL, V, Il
(C©) LI 1V, V, I, VI
(D) 1,1, VI, IV, V, I
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52.

53.

54.

Give the correct sequence of the

steps involved in stepping up a

receipe.

I Evaluate the product and repeat
till perfect

Il.  Double recipe and repeat to get
consistent product

I1l.  Prepare the product
original recipe

IV. Double recipe, evaluate and
record change

using

V. If product is satisfactory
enlarge by increment of 25
portion

VI. Adjust handling and cooking
losses in enlarged quantity

Code :

(A) V,LILIV, VLI

(B) NI, 1,1V, I, V, VI
(C) IV, 1,11, VI L
(D) 1, 1,1V, V, 1, VI

Write the sequential order of the
stages of family life cycle.

l. Establishing stage

Il.  Shrinking stage

I11.  Child rearing stage

IV. Expanding stage

V. Empty nest stage

Code :

(A) V., L ULV

B) L LIV, I,V

C©) HL IV, 1LV, 1l

(D) WV, 1LV

Arrange the developmental tasks
during early childhood period
sequentially.

l. Learning to talk

I1.  Bladder control

I1l.  Learning to walk

IV. Learning gender difference

V. Distinguishing right and wrong
VI. Getting ready to read

Codes :

(A) 1L LIV IV, V
(B) V, I HL VLI IV
C) unL LIV, vLv
(D) Ll 1v, Vv, Vi

S-12-13



50. = et & ofcudw 9 SAfushaw

VI =9 & AR Wel ST § ford
(. <hetidi/fafe)

L HUS g

I 9T 3R fora

. SEehRy

IV. O ot O g

V. SR

VI S HEAT

VII.  HEfHe FeHT

T

(=N

(A) 10, 1v, VL, 1, 111, VII, V
(B) 1v, 1L 1, V, I, VII, VI
(C) LI 1, VII, IV, V, VI

(D) WV, I1v, VI, VII, 11, 11, I

51. ToEIaE § foaswiad e ot «efol i
Wﬁfﬂf@?}:

I IS S FFH HI H AL BT
I O e fosR

M. UEERg
V. WEsEd
V. o

VI 3T | SRS
E

(A) 1L IV, L, I, VI, V
(B) 1L 1V, 1, VL V, II
(C) L ILIV,V,IIL VI

(D) LIL VLIV, V,III

S-12-13
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52.

53.

54,

T AR H dgH & [T TROT
aﬁwaﬂﬁﬁl

II.

II1.

Iv.

V.

VL

T

(A)
(B)
(C)
(D)

TS HT HEART BT R IH
gwwmwa%w&zﬂiﬁ
|

S el AT BT 3T 39
TSR ThMT e e Toheq Iy
TS |

TSI Aol S TRl WART
T |

S AIfeTeRT AT AT, Jodiw
HAT SR TZATE AT TG |
3R USTE s &, al SHb
TSN HT 25 I I H G |
TR Y T FHF Hl & B
TE! g e B qHESH BT |

V, 1, 10, TV, VI, Il
L, 1, IV, II, V, VI
v, I, 11, VI, 111, 1T
IL I, IV, V, III, VI

URAR e o5 i ST T ST
A TACTEY

L
II.
III.
Iv.
V.

%< .

(A)
(B)
(C)
(D)

T 3TaeT
REERECE]
ToT9] 1o 3taeen
i)
TearT Aigen staen

vV, L IL I, TV
I 100, IV, 11, V
L, IV, I, V, 1T
I, Vv, IIL, 1, IV

o o
URTRY ST HIT & SINGREEJESIE |

L
II.
II1.
Iv.
V.
VL

%< .

(A)
(B)
(©)
(D)

HrT & ST T & TEl T P T ;
EIGEIRSIEEE])

CEINERTRE]

AT HiEAT
ot 9T ST

el Tl o WY

T G o felT 9ar

I, 1, I, VL, IV, V
v, 1L 1IL, VI, I, IV
L, 1, 11, TV, VI, V
I 10, IV, 1L, V, VI
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55.

56.

S7.

What is the sequence followed in the
manufacture of Denim ?

l. Rope or sheet dyeing
1. Drawingin
I1l.  Weaving using 3 x 1 twill

IV. Warping on sectional/direct

warping
V. Sizing of yarn

Codes :

(A) 1,1V, 11, V, 11l
(B) 11,1V, V, I, 1
(C) IV, 1V, 11,11
(D) 11,1V, 1, V, Il

Give the correct sequence of printing
with azoic dyes.

l. Diazotisation

Il.  Clearing Naphthol
I11.  Naptholation

IV. Coupling

Codes :

(A) LI v

(B) UL LIV, 1

(C) 1,1V, 1, 1

(D) IV, I 1,

How are colours classified ? Indicate
the correct sequence :
I Primary Il.  Secondary
1. Quarternary IV. Tertiary
V. Intermediate
Codes :

(A) 1LV, IV (B)

© 1,1,V (D)

(1 I AV
V, LI
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58.

59.

60.

Write the sequence of steps followed
under throughout process
management.

I.  Sequencing

I1.  Activating

1. Implementing

IV. Prioritizing

V. Planning

VI. Adjusting

VII. Controlling

VIII. Checking

Codes :

(A) LV, IV, VI VI, VIL L
(B) V, IV, I, 11, VI, VI, VI
©) HL I, LV, VL VL VI IV
(D) VIL VL VLIV, LTV

Arrange in sequence the three aspects
of National Literacy Mission

l. Continuing education

II.  Total Literacy compaign
I1l.  Post literacy programme
Codes :

(A) 1, I (B)
C) LN (D)

In Edgar Dale’s cone of experience,
the audio-visual aids are arranged in
a cone with its purpose. Arrange in
sequence the given experiences based
on its division from the base of the
cone.

l. Observing

Il.  Symbolizing

I1l.  Doing

Codes :

(A) 1,11 8) i, 11,1
C©) uiLn (D) 1,51

S-12-13



55. 29 & 3Sae | FEfdfad § @ i 9

56.

S ST ST & 2

I Y 3reEn viie % ' H T
. SET

L 3 X 1 feaa & g

V.  ST¥EIE Sy aT
V. oW " i o

ETE

(A) LIV, 11, V, Il

(B) IL IV, V, I, I

(C) IV,L V, 11, II

(D) ILIV,I V,III

TSl 357 9 BUE % Tl HH W °IT
FHIFT

I SEsfedeH

. HwT Sl TS
. SRere

IV.  SUerT ()
FT

(=N

(A) LILULIV (B)
(C) ILIV,L I (D)

I, 1, 1V, 11
Iv, 11, 11, 1

57. T o SERROT A TSRAT ST & 2 Wel
S ST
I v o T
L. = V. gdEs
V.  Hege(
&<
(A) mLV, IV (B) LILIV
(C) LILV (D) V,L1I
5-12-13
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58. AN UATE UishaTl Yoy o 3Tl A aed

59.

60.

I T el s ST
I SFeRE

. |HT AT

[l =g

IV. SR 3

V. S

VI  HHMEwST

VIL o

VI S ST

T4

(A) 1V, 1V, VIL, VI, VIIL 11, I

(B) V.1V, L IIL II, VI, VIII, VI
(C) 1L IL I, V, VI, VIII, VI, IV
(D) VIL VI VIIL IV, L, IIL, I, V

T TR feE & i ust # %y
it -

I ffates= forem

I 0T SR S

M. ST G HashH

%!
(A) I 1L 1II (B) 1L 1, 1II
(C) mL LI (D) 1L 11 I

TSR S & AT B H, FeA-gH
TEE®H HEAT Bl 7% UG H B
(ST § @1 ST § | UE SFal
FT F g 9 B d% & faamr @@
'\C@WW:

I Ueor

[I. Ui

M. &

E

(A) LI 11 (B)
(C) 1L LI (D)

I, 11, 1
I, 1, 111
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61.

62.

63.

Arrange in chronological order the

experiments for rural reconstruction

carried out in India.

l. F.L. Brayne
Experiment

Il. Lt. Col. Albert Mayer-Etawah
Pilot Project

I1l. Rabindranath Tagore Sriniketan
Project

IV. Spencer
Project

Code :

(A LILIV, I (B)

©) LIV, LIl (D)

Match the cookery term given in List — |
with the Food products given in List— 1.
List— 1| List— 11
(Cookery term)  (Food product)
(@ Cutandfold (i) Vegetable

cutlet
(b) (i) Bread
(c) (iii)

Pineapple
pastry
(d) Cream (iv) Bun
(e) Glaze (v) Fruit cake
()  Knock back  (vi)

(vii)
Codes :

Jam tart
Biscuits
@ ® @© d@ ¢ O
(A) (i) (vi) (v) (iv) (i) (1)
B) () (i) @) (v) (@(v) (i)
(©) (i) (vi) (i)
O O @) W

(v) (iv) (i)
Match Nutrient in List — | with the
recommended intake in List — I1.
List— 1 List— 11
(Nutrient)
(@) Fat
(b) Carbo-
hydrate
(c) Fibre
(d) Protein
(e) Cholesterol (v) 30 g/d
Code :
@ ® © @ @
A () (v (v) (i) @)
B) (v) () @ (i) (v)
© O (@) (v () (i)
O) v Gy @) @O (@)

Gurgaon

Hatch Marthandum

I, 111V,
IV, I 1,

Bake blind
Coat

(1) 25-30% of energy
(if) 10-12% of energy

(iiii) <300 mg/d

Paper-111
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(Recommended Intake)

(iv) 50 — 60% of energy
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64.

65.

Match the oils given in List — | with
the saturation level of fatty acids in
List—11.

List—1 List— 11
(Oils) (Satu rati_on of
fatty acids)
(@) Mustard oil (i) TFAs
(b) Vanaspati  (ii) Omega 6 PUFA
(c) Ricebran  (iii) Omega 3 PUFA
oil
(d) Safflower  (iv) MUFA
oil
Code:
@ @® (@ (@
(A) (i) (v) (i) (i)
(B) (v) (i) (i) (i)
€ @ (i) (i) (iv)
(D) (v) () (i) (i)

Match the terms in List — I with
operations given in List — II.

List— 1 List— 11
(Terms) (Operations)
(@) Menu standar- (i) Purchase
dized recipes
(b) Invoice (if) Sales

(c) Menu flyer

(d) Perpetual
inventory

(e) KOT
(f) Portable totes

(iii) Store
(iv) Marketing

(v) Production
(vi) Delivery
(vii) HR Dept.
Code :

@ @ (©
A v B (@v)
(B) (vi) (vi) (i)
€ @ (i) (v)
(D) (i) (v) (v)

d ()
(i) i) (vi)
(i) (iv) (v)
v)  (vii) (iii)
i) @) (i)
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61.

62.

63.

IRA § UTHIOT GAMHTT & 63 T w=m

1 37h HIA SHAMER HAT T Tel 57

I UHUESH Ted T

. WAFIA Foae B ZEl IEae
RS

M. TS 2R Aiehae R

V. T T mdaed gREsH

he !

(A) LI IV, II

(C) LIV, I I

Tl — | ¥ 53 T A5 g i gt
g — || % @y ugTe ¥ gafed )

(B) 1L IIL IV, I
(D) 1V, IL I, III

@ () @ @ @ (®
(Vi) (V) (ii)) (i)
(i) @ (v (@(v) (i)
i (vi) () (v) (v) (i)
O @ () (V) (vi)  (iii)

g - | ° 53 uiftes awal B gt — |1 8
e o & foemes

g - | et - |1
(difeze aw) (Frenfeer |
(a) @ (i) ST 1 25-30%

(i) ST T 10-12%

(iii) < 300 /=
(iv) =T T 50-60%
(v) 30 T/RA

@ () (¢ (d ()
(iv) (i) (i)
(B) (iv) (i) () (i) (v)
) (iv) (v) (i) (i)
(i) (@) (@) (v)
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64. A — | B I dctl b g - || B 53 T

65.

FHIT STEAT T Tweral TR W HeTed

=it - | =it - 11
() (areita st bt
HIA)
(a) TEi e (i) A TET,
(b) ST (i) 3TE 6 PUFA

(c) Tt =T (iii) 3T 3 PUFA
T qA

(d) TR T (iv) MUFA

T

(=N

@ () (© (@)
(A) (i) (v) (i) ()
(B) (iv) (i) (i) (i)
€ @ (i) (i) (iv)
(D) (v) (i) (i) (i)

T - | R st W o - 1w
T 9 e Y

=it - | =t - 1

(¥1=3) (T )
(a) HFRPT = (i) HA

SlGE
OEEED (i) fosht
(c) T T (iii) R
(d) Fremt e (iv) #a fasa
Eel
(e) &332 (v) SR
(f) uReeg 2ed  (vi) TuRH
(vii) TH.3R, fawmT
&

@ () (© ) ¢ €
(A (v) @) (v) (i) (i) (vi)
(B) (vii) (vi) (i) (i) (iv) (V)
(€ () (i) (v) (v) (vii) (iii)
(D) @) (v) (v) (vi) (i) (i)
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66. Match List — I with List —II. 69. Match the traditional textile fabrics

List =1 List = 11 given in List — | with their
i iah ri descriptions given in List — II.
(@) Cleft palate Q) grlé;ghngrsllgy List— | | List— 11
(b) Toxemia (ii) 120-140 (a) Telia () Woven shawl of
. Rumal Kashmir
(c) Cephalocaudal (iii) Congenital (b) Kanikar (i) Printed or painted
(d) Pulse rate of (lV) 80-120 textile of Andhra
the new born Pradesh
(v) Head to toe (c) Kalamkari (iii) Embroidered
Codes : shawl of Kashmir
@ () () (@@ (d) Amlikar  (iv) Resist dyed fabric
(A (i) () (v) (i) Coder ) m (@ (
(B) (i) (i) (iv) (v) A (1) (i) (iv) iig
(C) (iv) (i) (iii) (i) B) (iv) (i) (i) (i)
(D) (i) (i) (iv) (v) [C) ii)) iv)) igl) i))
i) (i [ iv
67. Match the List — I with List —1I.
List-1 List— 11 70. Match List — I with List — II.
(a) Howard (i) Development tasks List— 1| List— 11
Gardner (@) Utility o (I) Availabi_lity
(b) Havighurst (ii) Electra complex (b) Accessibility (ii) ~Alternative uses
(c) Freud S. (i) Multiple intelligence ©) ;’gﬁ{t‘;’hange' (ilf) Replaced
. th(_aory (d) Substitution (iv) Value or worth
(d) Pavlov (iv) Stimulus response (v) Not given
theory (vi) Change
(v) Field theory Code:) 0 0
Code : a) (D) (c) (d)
@ (b) () (@) (A) EIV) 5!3 ng E!!!)
(A) () (i) (@v) (i) (g) (v) (iv) (i) (iii)
@ (0 m m RO
iv) (il i) (v
(D) ()i (1) () 71, Match List - I with List— 1.

68. Match the thread packages given in List—1 _ List—11
List — | with their descriptions given in (@) Knowledge applied (i) Intelligence
List—1I. for li?lutlons of
: . problem

List—1 List -1l (b) Human quality (ii) Judgment
(a) Spools (i) Centreless thread contributes flexibility
_ packages in living
(b) Cops (if) Used where thread (c) Ability to distinguish (iii) Adaplability
consumption is high between alternatives _
(c) Cones  (iii) Thread cross wound (d) Willingness to take  (iv) Enthusiasm
for stability (e) {/r\]/eelllegglanced health (v) Initiative
: v) Initiativ
(d) (éz(i)%oeohs (iv) Smallest packages e (vi) Accessibility
@ () © () Fa m @ (@ (@
(A) (i) (i) (1)  (iv) é !g II.I; ||} v) (v
() (iv) (i) (i) (i) R S (]
(€ () ) (v (i) I R S Y

(D) (@) (v) (i) (i)
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66.

67.

g - |a%11%ﬁ Ilﬁgggﬁ‘clﬁﬁ?
I
(a)a%ﬁuraaﬁz (i) soa SifEm
T
(b) St (i) 120-140
(c) fathett ®ier (iii) <= STt
(d) o= fry (iv) 80-120
I esT T
(v) fRIRaw
(@ (b () (d)
(A) (i) (1) (v) (i)
(B) (i) (i) (iv) (v)
(®) (i) (i) (i)
(D) (iii) (iv) (v)

'\Cﬁﬁ |a%11%ﬁ ||@gﬁaﬁraﬁ1%mr

. T4

[N

(a) -srlat% Tn-éqr
(b) &eErRe

(c) wES Tg
ORESE]

HT

(@) (b)
(A) () (0
(B) (iii) (i)
(C) (iv) (i)
(D) (ii)

(i) (i)

—11
(i) %lquww
(ii) oI PrrOeTRy
(iii) Sgattge s

((MESEERIGIER
EsFAe]

(v) &= fagra

(©  (d)

(i) (iv) (i)

(i) (iv)
(i) (v)
(iv)

68. T — | ¥ ¥ MU gW & THS IR

ga - Il § 37 foeRor & gHferd

HITTT
= - | =t - 11
(a) Tt (i) bz fér amm
PEN
(b) HTE (i) & =1 et
ST § UgeR
(c) Hg (iii) ferar & fou
& ! SH1Y-
q3S
(d) @ (iv) T T
He
@ (0 () (d)
(A) (i) (i) ()  (iv)
(B) (iv) (i) (i) (i)
(C) (i) (i) (iv) (iii)
(D) () (iv) (iii) (i)
S-12-13
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69.

70.

71.

et — 1 & s, et g — 1
ﬁu&ﬁ%ﬁﬂ@ﬂi@}ﬁw

1
(a) orern =t (i) ﬂmgaﬂ‘eﬁsﬁ]ﬁ

(b) oY (ii) anau%:mwrw

W‘amrrs‘w
(iii) wﬂﬁ
FHIMITHRT IMA
(iv) et srifora
usl

(C) HoTHRRY
(d) SHEIHR

T

@ (o) () (d)
(A) (i) (i) (iv) (i)
(B) (iv) (i) (i) (iii)
(C) (i) (iv) (i) (i)

(D) (i) (i) (i)

(iv)

Tt — |a%11%ﬁ ||@gﬁ%maﬁ1%mr
e - |

(a) U (1)

(b) gerwe (ii)
(c) I<- (iii)

(d) foerea (iv)
(V)
(vi)

HT
(@ (b) (c)
(A) (iv) (i) (v)
B) (v) (iv) (i)
(C) (i) (iv) (vi)
(D) (iv) (i) (i)

=t - 11
ST
Sehieaeh TANT
Hiaeenfud

T
e Tél
R

(d)
(i)
(iii)
(i)
(i)

it — |a%11%ﬁ 1 & AT HIfT

(a) HH«M éo‘ HHMH

(b)wmsﬁwqmsﬁa:r
T oTEehdl o d & |

(c) foreeai B 9%
T I T

(d) e T

T
(e) gEqfeTd @A

(@ () ()
(A) (1) (i) (i)
B) ()  (vi) (v)
(vi) (i)
(D) (v) (i) (i)

(i) (v)

=t -

(i) =
(i) Fomm
(iii) FFART
(iv) g=a

(v) oo
(vi) getvar

(d) (e

(v) (v

@) (i)

(iv)

(i) (vi)
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72.

73.

Match the items given in List — |
with List —II .
List— 1| List— 11
(@) Written form (i) Graphics
(b) Spoken form (ii) Debate
(c) Pictorial (iii) Demonstrations
form
(d) Action form  (iv) Circular letters
Code :
@ ® (© (@
(A) (@) (i) (iv) (i)
(B) (i) (i) (iv) (i)
© @) (@@ (i) (iv)
(D) (iv) (i) (i) (i)
Match the types of learner evaluation
given in List — | with its purpose
given in List - II.
List— 1 List— 11
(@) Initial (i) To know the
evaluation improvement

during learning

(b) Periodical
progress
evaluation

(i) How much
learning has been

use

(c) Summative (iii) Level of learner at

the time of Joins
the programme

evaluation

(d) Evaluation (iv) How much
of retention learning has taken
learning place

Code :

(a)
(A) ()
(B) (iii)
(C) (iii)
(D) (i)

(b)
(i)
(iv)
()
(iii)

© ()
(i) (iv)
(i) (0
(iv) (i)
M) ()

Paper-111
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74.

(@)

(b)
(©)

(d)

75.

Match the symptoms in List — | with
the disease in List —I.

List— 1| List—11
(Symptoms) (Disease)
Steatorrhea (i) Nephrotic
syndrome

Proteinuria (if) Diabetes

Negative (iii) Malabsorption
Nitrogen syndrome
balance
Glycosuria (iv) Acute Renal
Failure
(v) Gout
Code :
@ () () ()
(A) (v) (iv) () (i)
(B) (i) (@@ (i) (v)
(C) (i) () (iv) (i)
(O) (v) (v) () (i)

Match the organisations given in
List — | with their role given in
List—11.

List— 1 List— 11
(@) AEPC (i) Making standards
(b) BIS (if) Regulation
(c) UNICEF (iii) Exports
(d) NCERT (iv) Child health
(e) ICMR (v) Research
(vi) Education
Code :
@ @® (@© (@ (@
(A) (@) (i) (i) @v) (v)
(B) @) (i) @) (v) (Vi)
(€ @iy @) (v) (vi) (v)
(D) (@v) (i) (i) @) ()
S-12-13



72.

gl — | =t gt — |1 ¥ gHferd i

= - | =it - 11
(a) Tfaa & (i) oot
(b) T w7 (i) o foa
(c) b =a  (iii) wsel=
d) S Er (iv) gEE O
A

@ () () (d)

(A) () (i) (v) (i)
(B) (i) (ii) (iv) (i)
(€ (@) @@ (i) (iv)
(D) (v) (i) () (i)

74.

75.

73. & — | # W alt % Jodied %
TERI R g - |l A @ U o
TRATSHT o GHTAT I -

= - | = - 1
(a) TR (i) HEd % ERA
B @IER] TT GER
S & T |
(b) oA @ (i) T A Rl
LSiiEea T SR fomam
iR T € 3R 39 H
e[ e AT
@e |
(OREEE] (iii) A | I
B @IE] B T ghae
et T TR
(d) & (iv) T o diar
i A1 T |
Todieh
%!
@ (b) (c) (d)
(A) () (i) (i) (iv)
(B) (i) (iv) (i) (i)
(€ (i) (@) (@v) (i)
(D) (i) (i) (1) (iv)
S-12-13

23

TEr - | H 58 oIon @ gE - 1 #

et 9 foerss

=t - | =t - 11
(eTeTom) (st
(a) B (i) Awifesw fagm
(b) wRFRET (i) WY
(c) THERIAE (i) ACEAEH
EEEER g
KRRl
(d) TEHGRET (iv) o It hierR
(v) Tmse
C T

(=N

@ () (© (@)
(A v (v) (@) (i)
(B) (i) (@) (i) (v)
€ (i) (1) (v) (i)
(D) (v) (v) () (i)

Tt — | TS st B g - 11

feu 7T S SIEIfaE € fHere i
= - | =it - 1

(@) TEH I (i) HEE S

(b) FremEwE (i) fafem

(c) T (iii) Fram@

(d)s;r?ﬂé'aﬂ'{ (iv) et o1 T

(€) AEHTH (v) IFTHYH
AT

(vi) e

@ () (© @ (@€
(A @) (i) (i) (@v) (v)
(B) (i) (i) @) (v) (vi)
€ @iy @) (@v) (vi) (v)
(D) (v) (i) (i) (@) (v)
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Space For Rough Work
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